C:# Checking Division Answers

Name:
Check each answer. Determineif the answer is'correct' or 'not'. Answers
/ Division problems can be 263 +8=32r7 182+ 6=29r5 \
checked by multiplying the 39 29 1
quotient by the divisor and then 6
adding the remainder. x 8 X
256 174 2.
If the answer is the same as the + 7 + 5
\_dividend, it is correct. 263 1792@ |3
1) 444+9 =497 2) 818+2=204r2 N
5.
6.
3 741+2=2370 4) 547+8=109r2 !
8.
9.
10.
5 621+2=310r1 6) 109+2=54r1
7) 830+9=103r6 8) 578+4=144r2
9 207+6=34r1 10) 471+5=94r1
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Checking Division Answers Name: Answer Key
Check each answer. Determineif the answer is'correct’ or 'not'. Answers
/ Division problems can be 263+ 8=32r7 182 +6=29r5 \
checked by multiplying the - 29 1 not
quotient by the divisor and then 6
adding the remainder. x 8 X
256 174 2. not
If the answer is the same as the + 7 + 5
& dividend, it is correct. 263 179 j 3. not
1) 444+9=49r17 49 2) 818+2=20412 204 4 ___ ot
* 9 * 2 5. correct
441 408
+ 7 + 2 6. correct
448 410
7. not
3 741+2=370 370 4) 547+8=109r2 109
x 2 x 8 8. correct
740 872
+ 0 + 2 0. not
740 874 10. correct
5 621+2=310r1 310 6) 109+2=54r1 54
x 2 x 2
620 108
+ 1 + 1
621 109
7) 830+9=103r6 103 8) 578+4=144r2 144
x 9 X 4
927 576
+ 6 + 2
933 578
9 207+6=34r1 34 10) 471+5=94r1 94
X 6 x b
204 470
+ 1 + 1
205 471
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